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. Confidenceinterval
Degree of freedom
Discreterandom variable
. Null hypothesis

. Sampling error
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THE REGRESSION EQUATIONIS
Y=8.103+7.602X 1+3.111X 2

ST.DEV. T-RATIO=
COLUMN COEFFICIENT OF COEF. COEF/SD.
- 8.103 2.667

X1 VARL 7.602 2.105

X2 VAR2 3.111 0.613

THE ST.DEV.OF Y ABOUT REGRESSION LINE IS

$=3.35

WITH(15-3)=12 DEGREES OF FREEDOM

R-SQUARED=92.3 PERCENT

R-SQUARED=91.0 PERCENT,ADJUSTED FOR D.F.
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- RAMHREVESBFLopRA (%0)

0<Z<2) =«

0.00 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09

15 09332 0.9345 0.9357 0.9370 0.9382 0.9394 0.9406 0.9418 0.9429 0.9441
16 09452 09463 0.9474 0.9484 0.9495 09505 0.9515 0.9525 0.9535 0.9545
1.7 09554 0.9564 0.9573 0.9582 0.9591 0.9599 0.9608 0.9616 0.9625 0.9633
1.8 09641 0.9649 0.9656 0.9664 0.9671 0.9678 0.9686 0.9693 0.9699 0.9706
19 09713 09719 09726 0.9732 0.9738 0.9744 0.9750 0.9756 0.9761 0.9767
20 09772 0.9778 09783 09788 0.9793 0.9798 0.9803 0.9808 0.9812 0.9817
21 09821 09826 0.9830 0.9834 0.9838 0.9842 0.9846 0.9850 0.9854 0.9857
22 09861 0.9864 0.9868 09871 0.9875 0.9878 0.9881 0.9884 0.9887 0.9890
23 09893 0.989% 0.9898 0.9901 0.9904 0.9906 0.9909 0.9911 0.9913 0.9916
24 09918 0.9920 0.9922 0.9925 0.9927 0.9929 0.9931 0.9932 0.9934 0.9936




Lo HARBRAEL (394)

(X*>X%) =a
d.f. XZ0.995 X?0.975 X%0.100 X%0.025 X%0.005

1 0.000039 0.000982 2.70554 5.02390 7.87940

2 0.010025 0.050636 4.60518 7.37778 10.5965

3 0.071724 0.215795 6.25139 9.34840 12.8381

4 0.236984 0.484419 7.77943 11.1433 14.8602

5 0.411751 0.831209 9.23635 12.8325 16.7496

6 0.675733 1.237342 10.6446 14.4494 18.5475

7 0.989251 1.689864 12.0170 16.0128 20.2777

8 1.344403 2.179725 13.3616 17.5345 21.9549

9 1.734911 2.700389 14.6837 19.0228 23.5893

10 2.155845 3.246963 15.9872 20.4832 25.1881

2=z FAp@hiEdt (3%4)
(F>Fq)=a
v(df) 7=0.05

v(df) 1 2 3 4 5 6 7 8 9
1 161.45 19950 21571 2458 230.16 23399 236.77 238.88 24054
2 18,51 19.00 19.16 1933 19.30 19.33 1935 19.37 19.38
3 10.13 9.55 9.28 9.12 9.01 8.94 8.89 8.85 8.81
4 7.71 6.94 6.59 6.39 6.26 6.16 6.09 6.04 6.00
5 6.61 5.79 541 5.19 5.05 495 4.88 4.82 4.77
6 5.99 514 4.76 453 4.39 4.28 4.21 4.15 4.10
7 5.59 4.74 4.35 412 3.97 3.87 3.79 3.73 3.68
8 532 4.46 4.07 3.84 3.69 3.58 3.50 3.44 3.39
9 512 4.26 3.86 3.63 3.48 3.37 3.29 3.23 3.18
10 4.96 410 3.71 3.48 3.33 3.22 3.14 3.07 3.02
11 4.84 3.98 3.59 3.36 3.20 3.09 3.01 2.95 2.90
12 4.75 3.89 3.49 3.26 311 3.00 291 2.85 2.80
13 4.67 3.81 341 3.18 3.03 2.92 2.83 2.77 2.71
14 4.60 3.74 3.34 311 2.96 2.85 2.76 2.70 2.65
15 454 3.68 3.29 3.06 2.90 2.79 2.71 2.64 2.59







